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English Version :
(Use a separate Answer Book for each group)

Group—-A
(Answer any five questions) [5x5]

What is meant by innate idea?
What does Locke mean by the term ‘idea'?
What is substance according to Locke?

Write the distinction between impression and idea.

a > w Do

What does Hume understand by scepticism?
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10.

11.
12.

13.

14.

What does Hume understand by relation of ideas?
What is synthetic judgement?

What are the two characteristics of a priori knowledge?

Group-B
(Answer any five questions) [5x5]
What is meant by truth functional compound proposition? Explain with an example. [5]

Determine the truth value of the following statement forms by using truth table method —

a) [(p2a)>(~a+p)]=(~pva) [2.5]
b) [(Poa)>(~a>p)]>(d-~p) [2.5]
Write the difference between logical equivalent and material equivalent.

Construct formal proof of validity of the following arguments (only rules of inferences can be used)

(Any five) [1x5]
a) 1.(EvF)+s(GvH) b)1.T>U

2.(E>G)+(FoH) 2.Vv~U

3.~-G [/..H 3:~Ve~ W/ ~T
c) 1LEv~F d) LASB

2.Fv(EVG) 2.CoD

3.~E/..G 3.AvC/..(AB)v(CD)
e) 1(H>1)-(JoK) f) 1.(K.L)>M

2.KvH 2KoL/ . Ko[(KsL)+M]

3.~K/. .1
Construct formal proof of validity of the following arguments. (any two) [2%2.5]
a) 1L.Zo5A b) 1. To(U-V)

2.ZVvA/l A 2. (UvV)oW/ . To>W

c) 1Jv(~J-K)
2.0oL /. (Led)=1

a) By the method of resolution determine whether the followings are tautologies. (any one) [2.5]
i)(AD B)E(~AD ~ B)
i)(A>B)>[~(B-C)> ~(C-A)]

b) By the method of resolution test the validity of the following arguments. (any one) [2.5]
i)1.EoF i)1.(CvD)>(C-D)
2.FoE 2.C.D

EVvF -.CvD
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15. a) Prove invalidity of the following arguments assigning truth values: (any one) [2.5]

) 1LT=U i) 1.(OvP)>Q
2.U=(V.W) 2.Q>(PVR)
3.V=(TvX) 3.05(~S>P)
4.TvX 4(S>0)>~R

S TeX . P=Q

b) Either construct formal proof validity or prove invalidity assigning truth values of the

following arguments: (any one) [2.5]
) W=~W i) (Lo H)«(Q>S)
~.CvD .'.(L-Q)D(H-S)
16. Distinguish, with illustration, between rules of inference and rules of replacement. [5]
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